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Ratios and fractions
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| What do | need to be abk to do?
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By the. end of this unit you should be able to: |

» Compare quartities using ratio I

*  Link ratios and fractions and make |
comparisons :

*  Link Ratio and scales and graphs |

+ Solve problems with currercy conversions :
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* Solve best buy’ problems

I

I

I

|

|+ Share ina gven ratio
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: »  Combine ratios
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ICompare with ratio €

| For every dog there are 2 cats”

I Dogs: Cats M

| Units have

I I;Z h the be of

: The ratio has 1o be writteninthe [ | 1€ SAMe

| same order as the information i vale to

| gven compare

| €9 & [would represent 2 dogs for | ralios

| every | cat -
Katio and graphs @

Graphs with a constant ratio are 11

| |
| |
: drectly proportiond I Opicture of a car is drawn with a scale of 130 :
[ +  Fomastraght Ine I I
[ « Pass through (0,0) [l The car mage is & I
HE v\ Il 10em Image. - Real I |
I The gradent is the constant ratio I e em- 30em Di I
: A I ~ gIOcm 300em ¢/ :

|
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Ratio: ai statement of how two numbers compare :
Equivalert: of equal vale |
Proportion: ai statement that links two ratios I
Integer: whole number, can be posttive, negative or zero |
Fraction: represents how many parts of a whole |
Denominator: the number below the Ine on a fraction The number represent the total number of parts |
Numerator: the number above. the Iine on a fraction The top number Represents how many parts are. taken :
Origin: (0,0) on a graph The. point the. two axes cross |
Gradiert: The steepness of a ine |

James: Lucy —
(:50 3.4 @D:D } -
£150£200 [TTT]
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: James = 3 x £50 = £150
|
|
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|| Ratios and fraction @ | Sharing a whok nto aiven @ |
: | Trees: Foners Trees | : ratio | ores and Luey share £350 in the |

— = || rtio 34 |

: : 5 . 7 % I | Work out how much each person earns |
1 ‘ @j : : Modelthe Queston e :
| : Fraction of trees sl L Joames: Lucy D:I:l I
i 2 <l 3.4  oopm o
| I Number of parts of in group 3 ,é, | : : |
| Total numper of parts 10 2|l Lucy I

]I | A _! : Find the valve of one part |
= _—_—I:__-::::::::::::_ Whoke: £350 £350+7=£50 |
I Ratlo and Scak_’, 0 I 7 parts to share between D - one part |
== (3 James, 4 Lucy) = £50 |

Put back into the question :
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| Conversion between currencies @y 4= BE= =2~ !!Raiosin Ingndn|  Tsseommdon
== | In and n: 9
| o L S — : Ratios in tn and | wntil the part indicated represents | :
| £1=90 Rupees 4——— Currency is drrectly proportiona I I Show the ratio 4:20in the ratio of In |
: - £1=90 Rupees N\ o : I |
- > | The @geshon states 4_ - 2 0 This side. has o |
! £10 = 900 Rupees I I that ”';E 'T“'tth“g to be dhided by 4 I
I Currercy can be converted | o 00— to keepin
(I Using g conversion gyaph Il gh&ff”i |5 proportion I
| g Convert 630 Rupees into Pounds L e By I
| = 900 I | the n part does not have 1o be an integer for this type of question |
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| 1 o FIORRSN  —630-d0-7 |[r e e 1
| D = - 1| Combining ratios B .R. G
I_ —_—_——— e — — —— = _£ L:ESO_RLK%S_ —— e _I | The ratio of Bhe counters to Red comters s 53 :0. o I
I B?,St tzl Mg // You could work out how I : The ratio of Red counters to Green counters is 2 | o® © :
| l/ / , &?/ much 40 pens are and : | — |
I o {/ 4 /ZZ/ then compare | | Ratio of Ble to Red to Green 0... 0% .... % |
I ! " Compare the solution in the ! 7% oo |
: | 4 pens costs £260 | | 10 pens costs £600 | corttext of the question I | IO . 6 : 3 |
I g The best valve has the | I U ert ratios o i T I
| S PN £260+4-£065  £600+ 10 - £060 lowest cost “per pen” || Se equivaent 1guos 10 dioW |
1 costs.... e best v g I comparson of the grop that s &ﬁg@ﬁtcom“g:”t”rmlﬂk tOf I
~ *Ipound . e pest vale means ratio both statements
| £ bugs 4+ 260- B4pers 10+ 6- 167 pers g you more pers | : common to both statemerts e :
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